INTERMEDIATE ALGEBRA EXaM 3 V NAME

SHOW ALL WORK ON THIS TEST OR ON SEPARATE PAPER. Circle answers.
TURN IN ALL WORKSHEETS. CALCULATORS ARE PERMITTED ON THIS TEST.

In 1-8, simplify completely:
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In 4 - 5, give a) the simplified radical form, and
b) the decimal approximation (nearest hundredtht)
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In 6 - 7, rationalize the denominators:
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8. Simplify (express all decimals as fractions):

a) 1 %

2 4 3
1442 _125 3 P 30 ®) 2

(-125) 32

In 9 - 10, solve for x. Check answers.

9. k-4 =4 10. J2x 3 =2x-3

In 11 - 14, solve for x, and give interval notation if appropriate:

11. |3x - 8| < 4 12a) |3X - 8| < -4

b) [3X - 8] > -4

13. |x -7 >3 14. lx‘4lz4



In 15 - 17, solve using complex numbers and radicals if necessary:

15.

17.

19.

20.

(x - 2)2 = 40 16. x2 - 4x -5 =0

x> - 4x + 5 =0 18. 2x(x - 5) = -9

Find the diagonal of a rectangle whose width is 8 ft, ‘and
whose length is 15 feet.

Find the height of an isosceles triangle whose base is 24 om.
and whose equal sides are 50 com. (Nearést hﬁﬂ&rédth, it
necessary!)
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